[FHK]

[#HEE]

[R#5x]

(#2H%]

[ K4 X114 %]

[{ERF A EFTE#]

[ERBRER]

[#RHA)

[RIHERVERRAEEORE (4)]

[RHFRE]

KEREHEE

EE2TEDBELE

BERMERE

747 U7 BREEASRT
RFRBITHE PRI 202y

ERf#ERE/FANTESELS BUISA D —

LRk 1846 A 30 R

Rk 1847 A 18 H

14

LD




B/1 [RITSHHICET 2EE]

BITSHOLR wRety—x—3—
afk=—F 4725
L35 - JEERD B +iB
LiREEHESIET -y
A ERTTEM ErRESTRE ARG 2 4515
%2 [BHEICETAEHE]
1 [RE (RBEEH) / 1]
(1) [REHEFEOBRE]
O {#HE (KEREE)]
BA - EADH EAN (BAEH)
B4 XL 7 A F VT 4 BEHRASHT
R XA TE R AE R T105-6019 RIRAEEFE/FNTHEIELES MUFFAMFU—
IHEA XA FHR
B {E T i3 A FE T e #h
@ [BADBE]
£4£H8 R
Fiik
[
B RAERT
@ [EADBE]
BIMEAH E3Fn614E11 8 17H
HAERERE h—eZ s T I s N LS
EREEH REQITHR
HENE FEZ R ETEEITND L U M1 REa R 3
@ (%% - omEgt]
B OEBERVCHEYSESL TAF VT AREEREHE EVRR a5 T AR Bk R
BEEE 03 (4560) 6281
(2) [HHBHM)

BEOHMELZREETOBRE I UVRE—ERNCESSEBRT 9,




(3) [LERUEOFERERBFEONR]

O [REHEFFOEK]

HE 2T RD2IHIFEAL

EENRONEIEELS

EETLOEIEE2E

Bk (KD

1,342,900

Bk T HOMERESS ()

MER TR AR S (BF)

XA S~ FT T b

PREFTRITAL S

PRIFREE TR I AE 25

St SR AT Al FIE AR 411

& @R

M 1,342,900

EARSHI LI VME L LiC
IO R RSSO

RERHSOE (B
(K+L+M-N)

1,342,900

FERERAOHK
(A+B+CH+D+E+F+G+H+I+])

@ [&#ESRFHE]

RITHEBESE B
(FERR 184E 6 A 30 BHRE)

22,162,500

LiERHED
BESERERES (%)
(O /(P +Q)X100)

6.06

ERiO#@EFCEE S
BEERAERE (%)

(4) [YBEREFS AT 2 RRBNEEEREN)

AL AP




